= A
A & 0l & AF 2 E A A
20219 &= = 0llat LB & XA
2H: 230
M A2 FHH 235
ool e AE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E 30l =t 61,528,742 57,836, 120 3,692,622
= 1,889,083
s 20,420,000
J| 4,933,620
< 34,286,039
2o F¥H L3t 61,496,879 57,799,554 3,697,325
= 1,889,083
s 20,420,000
J| 4,933,620
< 34,254,176
NeEzs as 6,476,275 7,253,500 ANTTT,225
J| 322,000
< 6,154,275
M= 29 XA 210,000 210,000 0
307 21201 A 210,000 210,000 0
03 A BEE2IHIES 210,000 210,000 0
Ok 9 230=CH 24l 210,000
2 MY 2F W=t 3,275,000 3,800,000 A 525,000
306 ¢ 2 3,275,000 3,800,000 A 525,000
01 &3 3,275,000 3,800,000 A 525,000
o2&tz MSAY 775,000
O3 =2t 24| 2,500,000
NEZ3HEE LSRR (M EH) 1,988,000 1,988,000 0
308 XtXIEHH SOl A 1,988,000 1,988,000 0
01 AXHHILEES 350,000 350,000 0
OXNS M&enzs N (HE) 350,000
1132 SoHUHSZAEEALS I 1,638,000 1,638,000 0
OXY23HESLa XA (HE) 1,638,000
SHE A=A SEXE(21) 644,000 632,000 12,000
J| 322,000
< 322,000
308 XXM SO A 644,000 632,000 12,000
J| 322,000
< 322,000
3/ 2SOoHetE & XA E A I 644,000 632,000 12,000
OBAY MFUH SHXE 644,000
J| 322,000
< 322,000
AL 29 2435 199,275 241,500 N42,225
202 04l 1,275 1,500 A 225
01 = LH 4 Hi 1,275 1,500 A 225
OXNgEZstd 29 243 = 1,275




2H: 230
g JE = FHEH L
ool e AE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 180,000 240,000 A 60,000
01 HIXNHHBHNEELES 180,000 240,000 A 60,000
OXNLEZstd A 29 180,000
403 MtXISHHE X201 & 18,000 0 18,000
01 XM A=2EE 18,000 0 18,000
ONHEEsA &Y XA 18,000
ZEE 235t & IS HA 60,000 50,000 10,000
201 Let24dy] 10,000 0 10,000
01 At 22l 10,000 0 10,000
OZ3E =235t2 & J1g&dA 10,000
308 XX EHSOIA 50,000 50,000 0
01 HIXNHHNBMNEES 50,000 50,000 0
OZREE 232 & JISHA 50,000
AT 2 2SAME =4 100,000 0 100,000
308 XXM SOIA 100,000 0 100,000
01 IXNHHBNEES 100,000 0 100,000
OANZ 2= S3AE S5 (22) 100,000
S3IIBAE Y XESS 11,415,000 6,624,000 4,791,000
s 6,727,000
< 4,688,000
ANe23td AIZHl X2 (HEH) 700,000 0 700,000
403 XIS E X201 & 700,000 0 700,000
01 X SHHAN2E= 700,000 0 700,000
Ostd =2t HEg (Hs) 600,000
OFH=3E E=(HE 100,000
MERSHH =4 (21) 5,727,000 4,029,000 1,698,000
as 5,727,000
403 MHtXISHHE =0l & 5,727,000 4,029,000 1,698,000
s 5,727,000
01 XM A=2E X 5,727,000 4,029,000 1,698,000
O(S&)EH Es 28 =23add 240,000
s 240,000
O(=S8)a=x tHEs Y2 =HH 450,000
s 450,000
O(28)AF NEH MHS5ME 450,000
s 450,000
O(Eg)stH S8 LEHE M2 300,000
s 300,000
O(SE )Y HMYW=S23HHH 300,000
s 300,000
O(BE)&s oS8 Btk 300,000
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25 230z

M UHASO HMHA 4G

EHe: S3I|BtAIE S XSESE (2 &HH)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
403 XX SHHS K20 & 1,560,000 975,000 585,000
01 AIXISHHMA=Z2E X 1,560,000 975,000 585,000

OEAMAUHIOF HAE (MEH) 325,000
OEN MM H2Hgtzt HE (HEH) 325,000
OQH SH &2dgt2d HE (HEH) 455,000
OQM Jlg H2de2 HE (MEH 455,000

2 0l ZBHE 29 185,000 140,000 45,000
308 AMXISHMSOIA 185,000 140,000 45,000
112 2SHUSHEAXNRE A 185,000 140,000 45,000

O&Y OIYZ=2dHE 29 185,000

2224 =3 2 29 22 53,000 80,000 A 27,000
307 2Iz2t0| A 53,000 80,000 A 27,000
05 QIZ2tREF 2 53,000 80,000 A 27,000

odFE=2d0=3 & Aser2e 53,000
Ssli=&E 1,743,800 3,596,500 N 1,852,700

Ssiils &S 916,000 1,334,000 A 418,000
308 XX G SO0l A 866,000 1,327,000 A 461,000
01 AIXSHMEMNEX= 866,000 1,327,000 A 461,000

OO0l 2stzs I 306,000
=HE 230z DFAIY 25,000
SSoE I EQAAM HIIZ2A 20,000
OXLE G428 HA4d 2350 = site 10,000
©2021 PLZ HAEY 200,000
ZEHZANE 25,000
OFAHE - HOQ 2FUH=2A 20,000
O&e B AHN=E /IS 50,000
o9|= or2tdiol A& 25,000
OdZ2dAM=H 140,000
oOxd =AFAS K& 20,000
OZE JIES3 FA 15,000
OZZ HiCctoratgiol 249 10,000
403 XIS H S0l & 50,000 0 50,000
01 XIS A2E X 50,000 0 50,000
O'=F 2&)| 20 A2 c2ed 30,000
OYFOYE=H OfAZ2HE AlEIMA 20,000

25tlE BAK S 785,800 1,649,500 863,700
201 et | 200,000 502,500 A 302,500
03 A2 HH| 200,000 500,000 A 300,000

O A Oi=HAH 29 X 200,000
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HE2D D2 222 AE X 193,278 200, 108 A 6,830
307 gl2tol & 166,278 170,108 A 3,830
02 It M AHE L 19,000 170,108 A 151,108
O<=clZ JtRI| XA 19,000
10 ALSISEXAIEEE2EHEX 147,278 0 147,278
Ox=02EAE 2g N& 147,278
308 MXIEHMSOIH 27,000 30,000 A 3,000
01 HXNHHBHELS 27,000 30,000 A 3,000
Os0t2Eal =0SIAN &4 27,000
Z30l=Z20F At EHH KI& 35,000 50,000 A 15,000
307 glz2tol & 35,000 50,000 A 15,000
02 IZHE M AHE X 35,000 50,000 A 15,000
O23t0ll==20F ALSIEH XI& 35,000
=2 0i=&3 2el 17,000 20,000 A 3,000
201 Lt 17,000 20,000 A 3,000
01 At 22l 17,000 20,000 A 3,000
OAU=S DI=HE dofIds 29 17,000
A22HE 28tz XA 50,000 50,000 0
307 21201 A 50,000 50,000 0
02 IAHFAAHE R 50,000 50,000 0
OFM=d o2& 3l 50,000
A220HE Sstge 23 (=2) 5,048,656 4,230,054 818,602
J| 4,611,620
< 437,036
308 MtXIEHMSOIH 5,048,656 4,230,054 818,602
J| 4,611,620
< 437,036
01 HIXNHHNBMNEES 5,048,656 4,230,054 818,602
O=gZsolEA At 5,048,656
J| 4,611,620
< 437,036
2ANE E3LE L35 30,000 30,000 0
308 XXM SO A 30,000 30,000 0
113/ 2SHUHSZAEEALS I 30,000 30,000 0
Osg=2st0I8d At 30,000
Zidsns 43 N (21) 1,276,200 1,341,200 A 65,000
= 638,100
< 638,100
307 21201 A 1,276,200 1,276,200 0
= 638,100




2N
X ZH -
L= B

el

230l = ot
2EE3e Y 23
ME23 2435

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

< 638,100

02 RIZFE MM E X 1,276,200 1,276,200 0
OXNY szl 5 1,276,200
2 638,100
< 638,100

FOI2sozns XN (=21) 200,000 200,000 0
= 100,000
= 100,000

307 21201 A 200,000 200,000 0
= 100,000
< 100,000

02 QItFAAHE X 200,000 200,000 0
OROtZstMzws X 200,000
2 100,000
< 100,000

stwo 2z s B43(=1) 903,260 903, 260 0
= 451,630
< 451,630

307 glz2tol & 903,260 903, 260 0
= 451,630
= 451,630

02 IZHE M AHE L 903,260 903, 260 0
Ostui=2A XA 903,260
= 451,630
< 451,630

flesotel nEXA(=21) 380,000 600,000 A 220,000
= 190,000
< 190,000

307 glz2+ol & 380,000 600,000 A 220,000
= 190,000
< 190,000

02 YAFHAANGEEE 380,000 600,000 A 220,000
Otl=so0tel WX 380,000
= 190,000
< 190,000

Z2olflzold 24 (=1) 195,000 195,000 0
= 97,500
< 97,500

307 21201 A 195,000 195,000 0
= 97,500
= 97,500

02 It S AT EL 195,000 195,000 0
OZstll=nsA Y 195,000
= 97,500
< 97,500
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450,000
450,000
450,000

A 321,800
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/50,000
100,000
A1,800
A1,800

A 130,000
100,000
40,000
240,000

27,373
27,373

27,373

A 350,373
A 350,373
A 350,373

H3r
Wikd
RIS

8,159,027
1,250,000
1,250,000
1,250,000

757,800
470,000
130,000
40,000
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7,800
7,800
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200,000
50,000
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2,896,127
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2,896,127

1,305,100
1,305,100
1,305,100

Off &t 24

50,000
50,000
50,000
50,000
50,000
50,000
50,000

7,014,227
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1,700,000
1,700,000
1,700,000

1,700,000
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6,000
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2N
X ZH -
L= B

el

0% oY Mo

stol=
H2ste W A3
H 23ds |4

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

307 glz2tol & 500,000 750,000 A 250,000
02 PIZHEHAHEE 500,000 750,000 A 250,000

OZ=HMol=Hd 2021 M= X& 500,000
NEUE3do=sM NE (M) 500,000 500,000 0
201 L4l 5,000 5,000 0
01 At 22l 5,000 5,000 0

OXYGUEZHM=M 22 2 HHI(HE 5,000
207 A RO 15,000 0 15,000
01 2739l 15,000 0 15,000

OXNGUHWESHM=M HI S (H&) 15,000
308 XX EHSOIA 480,000 495,000 A 15,000
01 HIXNHHNBMNEES 480,000 495,000 A 15,000

OXGUHEZHMH=M S2FA(HE) 480,000
A2t 2 2 29 243 N2 17,965,200 12,857,000 5,108,200

s 12,193,000

< 5,772,200
HEEAZ MY X2 65,000 70,000 A5,000
308 XXM SO0 A 65,000 70,000 A5,000
01 IXNHHBNEES 65,000 70,000 A5,000

OUEE M2 At XI& 65,000
S2EAM2 A8 (=1) 17,343,000 12,539,000 4,804,000

s 11,661,000

< 5,682,000
403 XIS E X201 & 17,343,000 12,539,000 4,804,000

s 11,661,000

< 5,682,000
01 XXM A2E = 17,343,000 12,539,000 4,804,000

OJATHHESHEZI=ZEHEH A 2,372,000

s 1,617,000

< 755,000

OFINLLZA(KH )= N2 1,855,000

s 1,242,000

< 613,000

OsoHHE 0B AEEN2 1,606,000

s 720,000

< 886,000

OYF=HES DM TN 1,450,000

s 1,000,000

< 450,000

OsdIALECAHZ 895,000

s 400,000

= 495,000

OBHEUAIYMCHD 555,000
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25 230z
HE: YALEO M 23
ool 2sRExAY | (ctel:&2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 6,406,050
232E X AFA Jjetx A 3,778,050 4,503,400 ANT725,350
201 B9 7,000 10,000 A 3,000
01 AP 22| H| 7,000 10,000 A 3,000
ORs2HU =AY 22I2H(ICT &) 7,000
202 044 14,450 17,000 AN 2,550
01 2L Hl 14,450 17,000 A 2,550
O3 =AY DBt A 14,450
307 212t0| & 2,847,000 3,430,000 A 583,000
02 DIZHEAAIRE E X 2,847,000 3,430,000 A 583,000
oOXJFANMA XA 900,000
(O3 SlESFA R =P 147,000
OZEXHZMZEAsAH M= 1,800,000
308 XHXIEHSOlA 899,600 1,028,400 A 128,800
01 AIXSHMEMNEX= 899,600 1,028,400 A 128,800
O 23t HAS =X 420,000
oOXJ4d3 Lol 2= H & 149,600
O=HIIESA=AH 180,000
OHEHH A= e-A2Z=U3 &I XN 20,000
OAECZII Y= Y3l =4 30,000
O2F 2SI ML 100,000
403 XX SHHS K20 & 10,000 18,000 A 8,000
01 MXSHAHXNE2EE X 10,000 18,000 A 8,000
O|}F=HADICHAH JIsEZ 10,000
22 s - 0ls2 28 2435 792,000 250,000 542,000
308 AHXIEHSOIA 792,000 250,000 542,000
01 AIXSHMEAMNEX= 792,000 250,000 542,000
OLET B2 - 0= 2% 45 200,000
ottt - 0ls2 2322 U3 552,000
OO 822 Oisus 29 40,000
SSESRNNYE ZLHANS(HE) 986,000 1,537,000 A 551,000
308 XX EHSOIA 986,000 1,537,000 A 551,000
01 AIKISHHEMNEX= 986,000 1,537,000 A 551,000
=d 2T ANE ESXYE XM (HEH 435,000
Oxx 2T ANE EXY XA (MEH 435,000
OCQCIMl dlxzel 230ts X4 (&g 116,000
SSIEA 2L (=2D) 1,950,000 0 1,950,000
g 1,500,000
& 450,000




25 230z
HE: YALEO M 23
el 23 EExAY KA (SHol: @)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
308 XHXIEHSO|A 1,950,000 0 1,950,000
Fag 1,500,000
& 450,000
01 AIXSHMEMNEX= 1,950,000 0 1,950,000
O3 A ZH(EF) 1,950,000
Fag 1,500,000
=} 450,000
NAESZHE =X Heg XNRAS(2IHEEI LK) 400,000 0 400,000
307 gizto| A 400,000 0 400,000
02 AI2tAAMAIE E =X 400,000 0 400,000
OXNEESZH = e XSAS 400,000
HHSAAY (Ssto=1) 31,863 36,566 A4 703
Jleddl 31,863 36,566 AN4,703
EA2Y 2234l 31,863 36,566 N4, 703
201 et 22,449 24,326 N1,877
01 AP 22| H| 22,449 24,326 N1,877
OBANS&Y AR 22l 22,449
202 044l 5,814 8,640 A2,826
01 2L I 5,814 8,640 N2,826
O2EMSY =20l 5,814
203 R F & 3,600 3,600 0
04 EASHEIRFAH| 3,600 3,600 0

©202! 0|5t 3,600






